
Q1
a)
Complete the table below for y = x + 2

	x
	0
	1
	2
	3
	4
	5
	6

	y
	2
	
	
	5
	
	
	


b) Use your table to draw the graph y = x + 2

c) Where does your graph cross the y-axis?

d) What is the gradient of your graph?

Q2
a)
Draw the graph of y = 5 – x, for values of x between 0 and 6.

b) Where does the graph cross the y-axis?

c) What is the gradient of the graph?

Q3
Without plotting the graphs, state the gradient and y-intercept of these graphs


a)
y = 4x + 2

b)
y = 12 – 3x

c)
y = x


d)
y = 5x – 1

e)
y + 2x = 10

f)
y + 5 = 4x

Q4
Find the y-intercept and the gradient of the graph y = ½ x + 3

Exam style questions

Q5
a)
Make a table of values for y = 6 – 2x

	x
	
	
	
	
	

	y
	
	
	
	
	


          







    (2 marks)

b) Draw the graph of y = 6 – 2x






    (2 marks)

c) From your graph find

i) The value of y when x = -1.5

ii) The value of x when y = 3.4



    (2 marks)

Q6
The diagrams below show 3 graphs.  The diagrams are labelled A, B and C.

For each of the following, write down A, B or C to indicate the diagram which shows the graph of the function

a)
y = x + 2

b)
y = 2 – x

c)
y = x – 2                   (3 marks)

